
Add Hundredths 

1. Add.

2. Continue the patterns.

3. Find the missing addend. Compare the top and bottom ones. Remember that 0.4 = 0.40 !

4. How many hundredths do you need to add to make the next whole tenth?

       a.
0.03 + 0.09 = _____

2.03 + 2.09 = _____

        b.
0.15 + 0.15 = _____

1.25 + 1.25 = _____

        c.
0.11 + 0.19 = _____

3.05 + 3.05 = _____

        d.
0.01 + 0.10 = _____

5.02 + 2.60 = _____

a. 0.91
+ 0.02 = _______
+ 0.02 = _______
+ 0.02 = _______
+ 0.02 = _______
+ 0.02 = _______
+ 0.02 = _______

b. 0.80
+ 0.05 = _______
+ 0.05 = _______
+ 0.05 = _______
+ 0.05 = _______
+ 0.05 = _______
+ 0.05 = _______

c. 2.90
+ 0.03 = _______
+ 0.03 = _______
+ 0.03 = _______
+ 0.03 = _______
+ 0.03 = _______
+ 0.03 = _______

d. 1.77
+ 0.11 = _______
+ 0.11 = _______
+ 0.11 = _______
+ 0.11 = _______
+ 0.11 = _______
+ 0.11 = _______

a.
0.08 + _____ = 0.10  

0.08 + _____ = 0.11

b.
0.07 + _____ = 0.10

0.07 + _____ = 0.11

c.
0.24 + _____ = 0.3 

0.24 + _____ = 0.31

d.
0.45 + _____ = 0.5 

0.45 + _____ = 0.52

e.
0.72 + _____ = 0.8

0.72 + _____ = 0.84

f.
0.33 + _____ = 0.4

0.33 + _____ = 0.42

g.
0.67 + _____ = 0.7

0.67 + _____ = 0.73

h.
0.89 + _____ = 0.9

0.89 + _____ = 0.93

a.
0.47 + _______ =     0.5

0.55 + ________ = ______

b.
0.06 + _______ = ______

0.32 + _______ = ______

c.
0.28  + _______ = ______

0.97  + _______ = ______
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